
 
 
3 boules vs 6 boules  
 
Who wins? 
 
Aim of the game: 
• A single player competes against a Doubles team, 
with the single player given a 12 – 0 advantage.  
 
3 boules against 6 boules "to the target".  
 
How to play 

 
• the single player as well as each player from the 
doubles team have 3 boules each. 
 
• The game starts with the score set at 12:0 for 
the single player. The doubles team begins with 
their first throw. 
 



• The game is played according to the normal rules. 
 
• Comment: 

 
It would appear that the single player has the 
advantage however, winning is not as easy as it 
seems. 
 
The doubles team throw the cochonnet to a distance 
of approx 6 – 7 m.  
 
A well placed 1st boule by the single player can 
easily be shot away by the doubles team. Now that 
the doubles team have a better boules number in 
hand, they can determine the outcome easily. 
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